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No calculator

1. Sebastian has 42 washers.

He buys another packet of 36 washers.

How many washers does Sebastian have now?

1. . . . . . . . . . . . . .

2. Claire has 23 rawlplugs.

She buys another packet of 64 rawlplugs.

How many rawlplugs does Claire have now?

2. . . . . . . . . . . . . .

3. There are 53 passengers sitting in a train.

There are 23 passengers standing in the train.

How many passengers in the train?

3. . . . . . . . . . . . . .

4. There are 21 adults in the bus.

There are 27 children in a bus.

How many people in the bus?

4. . . . . . . . . . . . . .

5. There are 23 girls in a lunch hall.

There are 45 boys in the lunch hall.

How many children in the lunch hall altogether?

5. . . . . . . . . . . . . .

6. Carter has 51 nails.

He buys another packet of 32 nails.

How many nails does Carter have now?

6. . . . . . . . . . . . . .

Answers 1) 78 2) 3) 76 4) 48 5) 68 6) 83
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